
NAME _______________________________________________________________   DATE  ________________________

edubuzzkids.com  c   2015. All Rights Reserved.

1)  Lizard and Margaret have a problem. Lizard thinks 36 tens is less than 350.

     Margaret thinks 36 tens is greater than 350. Who is correct? Explain your 

     thinking below.

36 tens = ___ tens + __ tens

= ____ + ___

= ____

36 tens is ______ than 350.

________ is correct.

2)  Lucy and Savanna have a problem. Lucy thinks 2 hundreds + 32 tens is less 

     than 600. Savanna thinks 2 hundreds + 32 tens is greater than 600. Who is 

     correct? Explain your thinking below.

2 hundreds + 32 tens = 200 + 320 ones

= 200 + ____ + ___

= ____ + 20 =  ____

2 hundreds + 32 tens is ___ than 600.

____ is correct.

3)  Lucy and Pluto have a problem. Lucy thinks 78 tens is less than 400. Pluto

     thinks 78 tens is greater than 400. Who is correct? Explain your thinking below.    

78 tens = ___ tens + __ tens

10 tens = 100

1 ten = 10 ones

10 tens = 100

1 ten = 10 ones

10 tens = 100

1 ten = 10 ones
= ____ + ___

= ____

78 tens is ______ than 400.

_____ is correct.

Problem solving questions by understanding.
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